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Downingtown High School
East/West

Keystone Algebra 1 Review
Module 2

Functions




1. Find the domain of the radical function graphed below. , T
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2.  Which equation is graphed below? ‘4’ M\::\
A, 4x+3y=2 B. 4x+3y=-2 C. 3x—4y=-5 { D.3x+dy=-5 |

3. Sylvester's Pizzeria has a party room to accommodate pizza parties. They have rectangular
tables that can be placed together end-to-end to sit large groups of people together. Some
sample seating arrangements are shown below.
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4.

Which of the following relations is 2 function?

A. (1,4),(—4,6),(1,&&842)\\ o Ser E@ &MW m a %Mm
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Hours of sleep

C. (1,0),(~4,3),(6,13,(—4,3)
D. (6,1).(—4,4),(1,1),(6, 2)

. 1
Aline has a slope of ~3— and passes through the point (—4,—5). What is the equation of the

line?
A x+3y=11 C. x+3y=9
1 A1 1
B. =—(x+4 { Diy=—x—-—
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A university completed a study to determine what effect drinking coffee had on hours of sleep.
After studying 1000 people, they concluded that, for every three cups of coffee, a person slept
two hours less.

Which of the following graphs shows this linear relationship?

A. B.
Coffee and Sleep Coffee and Sleep
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7. What is the domain of the relation plotted on the graph below? DQ main = K Viajues
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A. {-3,0,1,3}
B. {all real numbers between and including -1and 4}
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8. Acompany noticed a linear relationship between the price of a luggage set and the number of
luggage sets sold. At $100, the company sold 1,000 sets. When the company raised the price to
$120, they sold 800 sets. Which equation relates the price of the luggage sets to the total .
number of luggage sets sold?

A, y-100=10(x-1000)
B. y-1000=10(x-100)

C y=100=-10(x~ 1%\ g W
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8. According to the table below, what is the range of the data?

Input output h%{"g’ H‘A’M{ e e W‘ VWM
20 26 - W (ov
21 27
22 28
23 29
24 30

A. 27,29, 31,33, 35
B. 20,21, 22, 23, 24
()26, 27,28, 29,30
D. 20, 19, 18,17, 16

10. The first five terms of a sequence are given below:
15, 24, 33, 52, 51, ..

Determine which of the following formulas gives the n” term of this

sequence. . _
B. 24-9n , %Wm T
C. 73 8n —
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